B H £ F100m

#OH R W HX
SR N Bk
8H25H 10:35 T
IR R 22 R0k (K)) 12.17 RHEHEREIR () 2012 8H25H 12:05 #Epk
ELEE (GR) 13.76 M HEEGESE 1993 8H25H 13:25 Wk
R SHH2E +2
1#H (Ja: +0. 6)
AL V= Fun = K4 It Prigt g Fldk AV b 1B
1 5 1396 /) Mk HZE(2) an vy Ut U A R 14. 46 Q
2 6 1451 LR HEIE(3) vt B AR 14. 52 Q
3 4 1390 &)l #7&(3) AN AN U A R 14. 84
4 8 1617 =B FH (2) Py 2y % J\JE A 15.18
5 2 1654 FJII 532 (2) N T4 i 15. 24
6 9 1492 AT &) YIVE NV W H 15. 37
7 3 1456 R FEEE(2) I g =1 15. 54
8 7 1342 HY ¥W=(2) BHh ak (LA 16. 10
2%E (Ja:-0.1)
BGE V= fon' - R4 Tt g Fr s Fdk 2ivb 1
1 5 1502 #&RE BEJY(2) )7 ) W H 14. 91 Q
2 9 1655 HiAT P (2) YThT ThA i 14. 95 Q
3 6 1579 & FE(Q) EERIING N I 15. 05
4 7 1620 TR EE(2) W IVARE! J\JE R 15. 26
5 4 1399 il FII(©2) a ki RER AL 15. 34
6 8 1605 WH HE(3) UFE v J\JEH 15. 36
7 3 1670 FAk Fld(2) IR AN CEREE 15. 43
8 2 1452 BE[E  RFHL(2) TV AN T g =1 15. 84
3%H (J&: +0. 3)
IBGE V= fun' - R4 I g Rogk 2Av/h i
1 4 1614 4TH  MERE(2) D A% J\JEL R 14. 28 Q
2 6 1455 ORI (2) 7F AL g 1ed 14. 55 Q
3 5 1562 /IMk< 54 (3) an vy s FREF 14. 58 a
4 9 1340 /4R HhFE (2) ayn ax ¥ (L 14. 75 a
5 7 1606 /NI EZEE(3) Y wab J\JEL R 14. 85
6 2 1457 BB F=N(2) %) v WA 15. 14
7 8 1498 ZHjiE FEID (2) ARG W 15.20
8 3 1388 “Ep HE(3) AGEVAEY! U B i Eg 15. 49



